.I
LS

S HEREH

74z

Jz1895 — S -
JHEL

C-HZ-LA

C-HZMHOB - o Ce




< DME ™ S EX TS

154 Angle Pins JAPD
ﬂ_
@_\/ L£0.2
K &5'\6 max.2(D=8itf sR<0.5 41 i) SR=D/2 SR=D/2
s g y
3 !
E ool Ll el ] )
= T a a /
0 S
T o2 N s
— D25LL_F RIS A
. 1.SREAREAZE
2.D10A LS FRER AT BB HLFL
3MEISUJ2, SR E A FEES58HRC~
Item Prefix D L N A m5 f6 S T H
12 | 20.0~250.0 +0.015 | -0.016 6 10 15
16 | 20.0~250.0 2<N +0.007 | -0.027 8 19
13
JAPD 20 | 40.0~350.0 | NSL-T-1 0~30 +0.017 | -0.020 2
30 | 60.0~500.0 = +0.008 | -0.033 10 35
N<0 15
40 0~500. +0.020 | -0.025 45
100.0~5000'1 (£ » 25) +0.009 | -0.041
1T E5E41
BE
Item Prefix D L N A
JAPD- 20- 180- N40- A12-

18



S A X EH < DME ™

S M Leader Pins JAPDU

ESm

F iy

C <0305 M N SR = D/2 SR =D/2 p
- <030 m
_______________ . H

-— <] Y, w - =

e el |10 ‘ W sl

D > 20 Hikk 4 1

L(-0.2,+0.2) S

*: 1.SREEQE (S
2 IS U2, B A % A FEEE58HRC~

Item Prefix D L N M e F S el W
16 45-250 10 25 35 8 10 13
20 50-250 9 17

12 30 40 12
JAPDU 25 50-350 22

0<N<L
30 60-400 10 27
16
35 60-400 40 60 18 32
40 60-400 20 15 36
1T 55841
BS
Item Prefix D L N

JAPDU 10 95 N30

19



- DME —™ S A X EH

Slide Retainers JZ1895

¥
iy
K
=
0
£
=

90" ~
<> <
AN
T/\zj:;_u \:“w
i a=1-R
— b
< ANe==e]
| Nlg=*-n
K T
f
1 52
¥ 14MRd1Z (0, -0.02) , h1% (0, -0.1)
Item Prefix f2(n) | f1(n) sw R1 L1 h2 h1 a2 a1 s2 s1 d2 d1
34 28 1.3 0.35 6.6 1 10 4.3 1.4 M2 M3 7 13
JZ1895 42 38 2 0.5 9.6 1.8 14 6 2 M3 M4 10 18
92 38 2.5 075 | 144 3 21 9 3 M4 M5 15 27
1T 55T
pidi=
Item Prefix d1
JZ1895- 13

20



3 7S A8 X E A < DME ™

Slide Retainers

*
iy
“'// N e./\%\ “W - m
- 8 & =
2 LN 7/§ g 5
s L \ (A7 & ﬁ
. = =
] i =
JEFL
G B~ [~
ro
Gy
vE: MASUT2, fESE: 58HRC (Min), i&FJiR%: 80° (&HE) -
)= ; .
i slc|o|e| F|o|d|msme|anesnn| 1 | o || BEWN P (%)
Item Prefix A fl(min) | f2(Max)
22.5 28.6 W (JSWC8X15)
LK 16 16|15(34] 5 (25| 6 |32 M3 M4 8 4 1 0 758 W1 (JSWFBX15)
36.7 62.9 L1 (JSWF10-15)
20 2 (20|46 6 | 35 (75|43 M4 M5 10 5 11 601 110 2 (JSWL10-15)
PRESRAl
=
Item Prefix A P
JSLLK 16 W

21



- DME —™ S A X EH

HAYMEL Hydraulic Cylinder

BT 5 BB R

¥
iy
K
junn|
-
0
£
=

(M _+1/2L)

EX:5MTF
EakE M1 AA AB AC AD AH
25 14 M8X1.25 15 M12X1.25 20 6
32 20 M10X1.5 15 M16X1.5 20 7
40 25 M12X1.75 20 M20X1.5 25 7
50 30 M16X2.0 25 M26X1.5 30 8
63 35 M20X2.5 35 M30X1.5 40 10
80 40 M24X3.0 35 M36X1.5 50 14
100 50 M27X3.0 40 M40X2.0 60 14
C-HZ-LA 1% n) 7Y
FEAEM R S45C (RHKE) —
THENMRL: SABCHEIR I K +EE R 8% K} Pl Ky
IHEMEL: RBLE P ”
I E77: 5-140kgf/cm2 T AR A Ve
{FFEE: 9-100mm/sec E“/ . L
: —5°C-150C., b
el
logl
F

D
m
= _ IS
O 4
L
N

T =]

B
;_""""*E__

/f
(@
S

Lo

Ct+sT

> |

22



3 S 8 X E A < DME ™

ERMEL Hydraulic Cylinder

|l alB|c|ole|l F |c|H|1]] K LN OEE
(gl‘ﬁ:xg&ﬁ:)
25 | 60 | 50 | 66 | 26| 11| 11 | 7| 7 | 23| 46 | $95X1.4/k7.$3 | 6 | 33| 5| $10X$ 19 i
32 | 75| 66 | 76 | 38| 17| 14 | 9] 9 |29| 62 | $95X14/k7. 64 | 8 | 41| 5| $10X$ 1.9 i
40 | 90 | 76 | 85 |45|22] 175 |11]11|34| 72 | $ 11.6X18/K7. 64| 8 |46] 5| $12X$24 %
50 | 100] 86 | 95 |50|27] 175 |11]11|35] 82 | $ 11.5X18/EFL 4| 10]|45|5]| $12X$24 5
63 | 120]106|108|60|32] 20 |13|13|42| 98 | $135X18/EFL 65| 12|52|5| $14X$24 -
80 | 150|130 126|70|36] 20 |13|13|44|126| 6 135X18/EFL 65| 16]|54|5| ¢14X$24 =
100 | 170|155 14085 | 45| 23 | 15| 15|48 |146| 6 135X18/EFL $5|16]|65|5| 14X$24 =
, fakE 1TiE A SHEAELGE
Item Prefix U ST (JEe s fi5mm) (352 HAr1mm) AA/AC R
25 5130 8 ~ 120
32 5~150 10~ 150
40 27200 IN (RZF) 7 (-5°C ~150°C)
C-HZ-LA 50 5240 11~ 150 B ()
63 13~ 150
80 5~280
= 17~ 150

| cHz | 1A | u | st | A1 | AAAC |
CHz — LA — 40 — 100 — 30 — IN

23



<« DME ™ S EX TS

FASMEL Hydraulic Cylinder C-HZMHOB

C-HZMHOB THEL A R

i
fir
K
o
*
B
H
=

C—HZMHOB
VRS

— -

~@T =
|
|

PA
M2

K J ¢
C——D E B+ST F— L
Atk 40C+E il R J1: 5-140kgf/cm2
IEIEFT: SASCHRARE K HERE #% i F3 . 9-100mm/ sec
WNIE: FRESR -5 -150

BB : S45C+K 2
i R MVGA6

HLAE Al B|W|D|E|F|G]|HIJI®ED] J| K |Lmn M1 M2 T|U
$ 32 20 70 17| 11[38]26]25]13 10 | 25 |19.5] M12X1. 75 | M16X1.5| 35 | 14
$ 40 25| 70 |22 17]38|28|25] 14 12 ] 40 M14X2.0 |M20X1.5[40] 8
$ 50 30[ 70 [27]18142|34]|27]|19]3/8|13]40],, -| M16X2. 0 |M26X1.5] 46| 10
$63 35| 70 [32]20]42]34]27]19 14 | 45 M18X2.5 |M30X1.5[55] 9
$ 80 40| 84 [36]24]46]40] 28|22 16 | 45 M20X2.5 | M30X1.5[65] 8
$ 100 50| 104452850 |45[30|25]1/2] 18|55 [29.5] M22X2.5 [M40X2.0]80| 6
$125 60 ] 104 [55]33]|58]53]30]28|3/4] 18] 70 [29.5] M24X3.0 |M50X2.0]95]| 8

24



3 S 8 X E A < DME ™

FERYYEL Hydraulic Cylinder C-HZMHOB

C-HZMHOB VT (1 22 35 7 SR R

4
TR 2R ~EHE ;Ef(*
# | Y EE==== Y I
3
D | AW = 2
-+
& I e———— JliEs =
# | Y === Y
LA | BB (o=
= R S—— alicy
|
T '
Q@ | ©
|
S +—
2 | 4-Ch
T | @
| S |
f |
C
C
SD LA
zS
A Al A2 A3 Cl1 C2 C3 | C4]Ch
$32 40 55 M10 | 109 | 88 63 | 14 | 11
$ 40 45 65 MIO | 112 ] 90 69 | 14 ] 12
$ 50 56 80 M12 | 140 | 115 ] 85 | 17 | 14
$ 63 65 95 M14 | 156 | 128 | 100 | 19 | 14
$ 80 80 | 110 | MI6 | 184 | 152 [ 115 ] 25| 18
$ 100 95 | 131 | M18 | 210 | 178 | 137 [ 27 ] 21
$ 125 122 | 162 | M22 | 280 | 230 | 171 | 30 | 24

C-HZMHOB

25



DME ™ S A X EH

- IME —
C-HZMHOB
A= fAEES 17#=EST C ﬁi—%’HﬁJ’J—ﬁﬁﬁ?% H, o gk
BRED [ ype | 00 3R Efuimm [ FHE R M AR il
32
B ) ) IN (FZF)
i 140kgf/cm2 | C-HZMHOB gg 5-500 35 150 S (5M5H N -5 -150
fuan 100 40-150 LA
s 125 45-150
H
E__<

P WRE

|cHzmHoB| 40 | eosT | cso | N | N | sp |

(@) @) ® ® ® ® @

Fe EFR B8

1 THEL RS FEFE L

2 L A L AE 32/40/50/63/80/100/125

3 T AT AR R R

4 "¢ R~} PR LR R

5 TN I A T IN (W) /IS (AhF)

6 YHIRT P i 4 N -5 -150 FPM Viton

7 AT A SD/LA
SD LA

’_‘%q i

V==t \
b 0

H

26



S A X EH - DME —™

J7 BUyMEL Hydraulic Cylinder

MaxT=80°C - Max p =150bar

T
e
K
Z
B
£
=

REF A| B C D E|E1|E2(|F|G|[H|J|[K|L[M|N|O|[P|[Q|R | I

Z2G25300 300 | 424 |3x80| 56 | 66

Z2G25400 (P25|d16| 400 | 524 |3x80( 106 | 116 | 46 | 20 | 3.5| 34 [ 18 |21.5| 43 | 29 | 11 12,, 9 | 6 | M8x20 | SM5x10
Z2G25500 500 | 624 |5x80| 76 | 86

ZG40300 300 | 432 |3x80| 56 | 66

ZG40400 (P40(P22| 400 | 532 |3x80( 106 | 116 | 56 | 30 [3.5| 44 | 22 | 35 | 63 | 27 | 13 1/R2,, 9 | 8.5 M10x30 | SM5x10
ZG40500 500 | 632 |5x80| 76 | 86

Z2G63400 400 | 556 [3x80| 114 | 124 R

2563500 ©63| P36 500 | 656 I5xa0| 84 | 94 96|50 8 | 70|38 ]|25|52(35]| 16 3/4” 22 | 12 [M16x40 | SM8x 16

27








